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Nature of Universe

1. Kepler’s second law of planetary motion is also known as - law of equal area

 

2. If the earth rotates 17 times faster than its normal speed, then the earth will make rotation in - 1.412 hours

 

3. Kepler’s law of Area is a statement of the law of conservation of - Angular Momentum

 

4. Super nova is a massive explosion of - A dying star

_____ 

5. When the full moon is at the closest point (perigee) of its orbit to Earth it looks bigger and brighter, when we see it

farthest point (apogee) from earth is called - Super Moon



_____  

6. Sun spots occur after every ____ years. - 11

____ 

7. Which star is nearest to the earth next to the sun? - Alpha centuri

 

8. Who proposed the geocentric model of the universe? - Ptolemy

 

9. If the Distance between earch and the sun were to be doubled, the number of days in a year would be, - 1032

 - 1032

Properties of Matter

1. What rises upto a height h in a capillary tube of a certain diameter. The capillary tube is replaced by a similar

capillary tube of half the diameter. The water will rise to a height of - 2 h

h 

 - 2 h

2. When detergent is mixed with water, the dirt from cloths is easily removed. This is due to - Surface tension

 

3. Food cooks faster in a  pressure cooker than ordinary pot with a loose lid because the higher pressure

- Raises the boiling point of water



 
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4. All liquid drops assume spherical shapes, on account of - Surface tension

 

5. Which is the Natural Nanomaterial? - Peacock feather

 

6. In winter, why do birds sit with their wings spread out? - To enclose a lot of air

 

7. A good lubricant should have the property

- It should be capable of conducting away heat produced by friction





8. Therminal velocity is related to - Viscosity

 

9. The wettability of a surface by a liquid depends primarily on

- Angle of contact between the surface  and the liquid

 

Force Motion and Energy

1. If a simple pendulum with the mass of the bob as ‘M’ has a time period “T”, then if in the same pendulum another

bob with mass 2M replaces the original bob. Now the time period is (It may be assumed that the string attached to

the string attached to the bob has no mass) - T

M (simple pendulum) “T”

2M 

 - T

2. The value of acceleration due to gravity from equator to the pole - Increase

 

3. Newton’s law of gravitation states that   /  - 1 2

2

Gmm
F=

r

4. Related to Newton’s first law? - Inertia

 

5. The relation between gravitational constant ‘G’ and acceleration due to gravity ‘g’ is - GM = gR2

‘G’  ‘g’ - GM = gR2

6. Viscosity is a transport pehnomenon in which - Momentum is transported

 

7. Escape velocity is - Varies planet to planet

 

8. The relation between weight and gravitationl mass is -  w  = mg

 -  w  = mg

9. How the Thanjavur doll is performing a dance like continuous moving without fall? - Centre of gravity

 
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10. The rate of change of velocity if - Acceleration

_____ 

11. The Inertia of a body depends on - Mass of the body

_____ 

12. The variation of g with time can reveal - The seismic activity

g- (time)  

13. If a person moving from pole to equator, the centrifugal force acting on him - Increase





14. The work done by the conservative force for a closed path is - Zero

_____  

15. Why two wheeler are not normally fitted with diesel engine? - High power

 

16. When a cricketer hits the ball by his bat, the force exerted by the bat on the ball is ____ force. - Impulsive

_____  

17. The vehicles are fitted with shock absorbers, which is based on - Impulsive

 

18. Why does solar energy considered as a prefered  option of green energy? - Renewable

 

19. This book was written by Isaac Newton during 1685 and 1686 - Principia Mathematica

 

20. Repetitive to and fro motion of an object at regular interval of time about a point is - Oscillatory motion



 

21. A rod has a mass of 100g and length 1m. Its radius of gyration perpendicular to its length and passing through its

centre of gravity is - 0.2886 m



 

22. If a person moving from pole to equator, the centrifugal force acting on him - Increase



____ 

23. If a man has a mass of 50kg. on Earth, the what is his weight? - 490 N

 

24. When a force ‘F’ acts on a body for a period of time ‘t’, then the product of force and time is known as

- Impulse

‘F’  ‘t’      

____  

25. Calculate the velocity of a moving body of mass 5 kg whose linear momentum is 2.5 kg ms-1. - 0.5 ms-1

 
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26. Newton metre (Nm) is the S.I unit of - Moment of couple

(Nm) S.I  

Everyday Application of the Basic Principles of Mechanics

1. On rear wheel drive cars, with the engine in front it is a common practice to weight down the trunk in order to

increase safety, when driving on - Icy roads





2. The wings of the aeroplane was designed based on - Bernoulli’s theorem

_____  

3. It is difficult to walk on ice bar because - Friction is low

 

4. Two exactly similar wires are stretched by the same load. Their elasticities are in the ratio 5 : 3. The ratio of their

elongations are - 3 : 5



 

5. During the storm wind, blowing of roofs is the application of - Bernoulli’s theorem

 

6. In Automobile service stations, the vehicles are lifted upward using the Hydraulic Lift, which works based on

- Pascal’s law



 

7. More number of wheels are provided for a heavy goods carrier in order to decrease the _____, thereby increasing

the area of contact on the road. - Pressure

_____

 

8. How do the biscuits, remain Crisp, when kept in a fridge? - Low Humidity

 

Electricity and Magnetism

1. A heater uses 3 units of electricity in 40 min. How many units does it consume in  2 hours? - 9 units



 

2. The capacitors of capacitance 3 F and 6 F are connected in series combination. Their equivalent capacitance will

be - 2 F

3 F 6 F. .  - 2 F

3. The Converse of magnetostriction effect is - Villari effect

_____ 
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4. Pyrometer works on _____law. - Stefan’s law

_____ 

5. In Magnetic Resonance Imaging (MRI), _____ wire is used to produce strong magnetic field.- Super conducting

(MRI)_____



6. The unit of electric current is ____ - Ampere

____ 

7. Above the curie temperature, a magnetic materials become - Paramagnetic

_____  

8. Which charge configuration produces a uniform electric field? - Uniformly charged infinite plane

 

9. Electron was discovered by - J.J.Thomson

_____  

10. The value of 1 hp in terms of watts is - 746 W

1 hp-_____  - 746 W

11. Which a magnetic storage device? - Floppy disc

 

12. The charge of an atom is - Neutral

_____  

13. Alternating current is converted into direct current by - Rectifier

_____ 

14. The force of attraction between two charges at distance ‘d’ is ‘F’. What distance apart should these charges be kept

in the same medium, so that the force becomes 16F? - 
d

4

‘d’‘F’ ‘16F’

 
d

4

15. The Metal / Metals which excel in the conduction of heat and electricity. - Copper and Silver

 

16. An electric heater of resistance 5  is connected to an electric source. If a current of 6 A flows through the heater,,

then find the amount of heat produced in 5 minutes. - 54000J

5   6 A 

 - 54000J

Light

1. A rock containing the fluorescing calcite is illuminated by ultraviolet light. Then, the colour of the rock seems to be

- Red







6  - 99445 11344| - 98942 41422| - 75503 52916|  -  98431 10566| - 97555 52003| - 90433 10773

2. Raman effect is scattering by - Pure Liquids

 

3. Quantum nature of light is not supported by the pehnomenon of - Interference of light waves

 

4. The instrument  used to measure the atmospheric ozone concentration is - Dobsonmeter

 

5. The colours exhibited in soap bubbles due to the ____ of light. - Interference

 

6. The colour of light that travels through glass with minimum speed is - Violet

 

7. A convex lens of power 3 diopter and a concave lens of power 2 diopter combined together. Then the equivalent

power is - Convex lens of 1 diopter



 

8. The power of lens is measured in - Diopter

_____ 

9. Which of  molecule(s) causes food to cook in a microwave oven? - H
2
O

(microwave overn)  - H
2
O

10. Which are the primary colours in a Colour TV system? - Red, Green, Yellow

 

11. The frequency range of X-rays are - 1017 Hz to 1019 Hz

X-_____  - 1017 Hz to 1019 Hz

12. Fraunhofer lines are the example of ____ spectrum - Line absorption

_____  

13. The radiation with highest energy is - X-ray

_____ 

14. In TV transmission the audio signal is _____  modulated. - Frequency

_____  

Sound

1. The velocity of sound in air at 30oC is 350 m/s. Keeping the temperature constant, the pressure of air is doubted.

The velocity of sound in air now will be - 350 m/s

30oC 



2. Decibel is a unit to measure the - Intensity of Sound

_____  

3. The reason for expressing audio power amplification in dB unit is - Our ear response

 
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4. Sound travels at maximum speed in - Steel

_____  

5. When mechanical waves have a frequency below the audioble range, these are called? - Infrasonics





6. Hubble’s law is based on - Doppler Effect

 

7. According to Laplace, sound propagation is an ____ process. - Adiabatic

____ 

Heat

1. The Snow on the mountains does not melt all at once when it is heated by the sun because

- it has high latent heat of fusion





2. Let the following temperature of water in a pressure cooker be T. Then - T > 100oC

T  - T > 100oC

3. A perfectly black body is that which - Absorbs all the radiations incident on it

 

4. The transition betwen normal and super conducting state is thermodynamically - Reversible

 

5. Land and Sea breezes and trade winds are formed due to - Convection

_____ 

6. The minimum possible temperature beyond which matter cannot be cooled is = -273oC

 = -273oC

7. The S.I. unit of temperature? - Kelvin

S.I  

Nuclear Physics

1. What are isotones? - Atoms have same number of neutrons but different number of protons

 

2. Who was the architect of atomic research in India? - Homi Bhaba

 

3. Which particles has same mass as that of the electron? - Positron

 
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4. ______ is used to find age estimation in the archaeology. - C14

______ - C14

5. In a nucleaus, protons and neutrons can exist together due to, forces? - Yukawa forces

 

6. Which gas is maximum available in Sun? - Hydrogen

 

7. Ideally Moderators have - Low atomic weight and low neutron absorption cross section

 

8. In Tamil Nadu, the heavy water projects is located at - Tuticorin

_____  

9. The rays markedly increasing Shelf-life of fresh fruits are - Gamma rays

 

10. The device used to perform chain reaction of nuclear fission in a controlled manner is - Nuclear reactor

_____  

11. The name of the Atomic Energy Research Centre in Tamilnadu is - IGCAR

_____ - IGCAR

12. Which material is used to make control rods in a nuclear reactor? - Cadmium

 

Laser

1. A laser been is used for carrying out surgery because it - is shaply focussed

 

2. ____ is the ratio of Helium-Neon mixture in the He: Ne Laser. - 5 : 1

____ - 5 : 1

Electronics and Communications

1. An AND gate can be obtained by repetitive use of - NOR gate, NAND gate

AND  NORNAND

2. The Boolean expression for XOR gate is - AB+AB

XOR  - AB+AB

3. ____ and ____ bands are used for transmission of TV programmes. - VHF, UHF

____ ____ TV  - VHF, UHF

4. What is the capacity of Blu-Ray disc? - 50 GB

 


